Arithmetic Sequences

f(x) =mx +b
IMPORTANT DEFINITIONS:

SEQUENCE: A0 -t of numbers (terms) often containing a PQ“:&E,( N,

Example: ,1 1
reh
TERM: the ﬁm&rs in the sequence Z

What is the first term in the sequence?
What is the third term in the sequence? [ O
What is the ZERO term in the sequence? _— Z

COMMON DIFFERENCE: The _d_'\g&(&ﬂf&befween the terms is fhe same.
(The Mt&erm increases or decreases.)
The variable used is &,
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Write the FUNCTION RULE Write the FUNCTION RULE
(equation) for the sequence. (equation) for the sequence.
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Find the 215" term. Find the 42" term.
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ARITHMETIC SEQUENCE: When the mdzﬁ&_&n@fwe!nc d(\oi\o&

CONSECUTIVE terms is the SQAMY ,
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arithmetic sequence.




Looking at the function..
a) f(x)= —%x+62

What is the ZERO term? _@_

What is the COMMON DIFFERENCE? _ / 6
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Real Life Application: 3‘%‘:5_‘“:%_(“\)

1. Suppose a cell phone service charges a base rate of $20 per month and $0.25
. \__/
per. minute for each call.

a) Write a&FgNCT[ON RULE (equation) for this situation. r‘%
(x D=, 2500 4= 20 CROR
b) If you talked for 55 minutes last month, how much would you be
(without taxes)? Ca
N
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b) y=14x#095
What is the ZERO term? 0.9
What is the COMMON DIFFERENCE? /|
Find the FIRST 3 terms. /.00 29,02 4.6

2. Babies grow really quickly. This graph compares a baby's growth period in

months (x) to its length in inches (y).
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a) Wr'ﬁ'e a FUNCTIO RULE (equation) for a baby's growth.
(X)= %X +20

b)  When the baby is 2 years old, how many inches long will it,
(Hint: Change 2 years to monThs) =2 E gears s &;70/2 Ms

$(24)= Ve/(24)+20
T GO¥+RO
=20 /ﬂ(ﬁ(&‘



